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Ve (£0) aia¥) Aud S A a3e -

Aadia (YA) laie¥) dul S Cladia dac -

(b e g ¢ laiel) Al S Ciladia aae (e ALY a8 i e B -

(Slebu EDE) LAY () -

Asa (V) DLasSU 4K ds all -

P Agling cilaglal) 08 8 . llall (5 338

ALY el Lghgan 8y Al dadie i latiel) S dadie 8 ol gas 12 Cilagledl) T 30
Al b eadl J8 o 48 Sy Aliag ) s 18

3 JS (o Lt Baal g il L) qugthiall g ¢ zliadd day e ALid) ¢

AL e alasil ane g ocla g ) 8 Galia )l Al 5 ¢ Aadld (3 ) Giladl AR aaa
dalial daladl Al s ladl daiadiall dalall & conf (A dWa) Al WD elils) die
e S elila) ¢ 5 ¢ el 3 L8Y) ga 83 gusall ladia & laY) JLSi ) (Say s A
L e oy b g Ala)

s JLia

. &8 (B) 4 (A) oo el ALEAY) 408 ALY (e olils) e
rda g O e (e JLEAY) Alidd Ge dlifla) Al

) e JSI SIS DL Al BlaY) e JIal Sl culd s jiall Jils
Mia (C) Aagmaall LlaY) 1 e

: dagaall 4y

®e®E

Anma LY sl dania Als) Cualy Cladll cudd (et Ala) cual 1) L dlls B
Lt LY et Tad 8l Qe Cadd G ¢ dapaa s Gl 1Y Ledlls -
: 4k gala
A gl ey e S8 e JUaTl a5 1Y) (Adade G JLEAYY) A gia gall ALY Ala B
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Base your answers on what you studied in | sLo¥13sle -8 Cew)s Lo s 5 -2
BIOIOgy: + 4G Al e u.?‘

1 - Choose only one question (A) or (B) and | 3 (<) of (1) ot gaadt dsi p25 1 -
then write its scientific term: dule JIA alal | s
A) Aparticular sequence of nucleotides in y

DNA s transcribed toacomplementary | %4> ¢ ShisdS sl gl - |
sequence in triplet on mRNA. L @3 301y MRNA (L
B) The enzyme is produced by viruses DNA Glagpts i iye
with RNA genome. Clugpall B dijpad uagi @l - o
RNA i ol gios (95 201

2 - What is the technique that used to obtain | J gt daciel! ads datt 4830 -¥
the following: (oo JS ole

1%") Important economic plants from some
living cells.

e wnlaidl ded gy OLo ¥l
S LS e

2"9) Frog without fertilization. il g ol sLsls
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3 - Choose only one question (A) or (B) and
then mention the importance:

A) Tendrils in plant.
B) Cholinesterase enzyme.

4 - Choose only the right answer of the
following:

The lymphoid organ which have the highest
percentage of lymphocytes is .........

(@) Tonsils.

@ Thymus gland.
@ The lymph nodes.
@ Payer’s patches.

(@) 9l (1) ot uadt |yt =Y
zs\f«,’m.M 29 @
OLES 8 Gl leatf -

e ks (ot 3SH @133~

1 Lao dadid doviual| dala Wi ) - ¢
Lo jod Ayglaactdl sloac¥i i)
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5 - Choose only one question (A) or (B) and
then give reason for:

A) The zygospore divides by meiosis.

B) The menstruation takes place if the
ovum is not fertilized in human female

1@ (@) 9f (1) o1 3uad ) A f y2500 - 0
U
2 Sig—te plowddl g -
g e Hg g
i @l 3] Cealal 3 yga Giimi - o
Ol ¥ (1 (B Bday gt

6 - Mention the uses of hybridized DNA.

O2ngadt DNA Olet i 5S30 -1
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7 - The following table illustrates the
codons of different amino acids, look at
it then answer:

oolas N1 Oliga 980 tfgalm -V

G Tt o8 Aaa’ys

Glycine | Arginine | Threonine | Lucien | Prolines | Alanine | Tyrosine | Lucien | Alanine
prsale | oril | ot | orwed | odem | oo¥T | ey | et | o
GGC AGG ACC uuG CCC GCG UAC CUG GCA

1*) Write the mRNA strand that produced
from the following part of DNA:

: A DNA oy i st
25k MRNA da s Cas1: ¥ )

2")Write the arrangement of amino acids | aswe¥! polen¥l caiys casi Ll
i the polypeptide chain which produce | zus o asud i wie dlulu
from the previous nucleic acid. PP Wy P\ AT

8 - Illustrate by drawing only with complete
labels the structure of the vertebrae in
human.

WLS 20 dadd mqul mag-A
Asalie 5,38 S5 SLLAY
| PR
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9 -The figure below show the humeral
immunity.
1*") What is the importance of organ no. (2)?

27%) What is the importance of major
histocompatibility complex?

37) What would happen if the structure no.
(3) absent?

@)
3) / i.
L 2 -
q

AT el gy (AL SIS -4

LAdalad) ALl

Y e calullhs g 2

$(Y) o8y punal) el Lo < ¥

G191 (59 dee i La sLols
8 anncsid

S e T3] oo f3La (108
§(¥) 3y
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10 - Choose only one question (A) or (B) and | (o) oi (1) (e 5udt i yisnf =\ ¢
then write its scientific term: JI Galal mllamal| COSH @D
A) Seeded plants whose seeds develop e
with a pericarp. s L yeon Lass i clils -
B) A phase in the menstrual cycle is el B

characterized by an increasing in estrogen | ===! 2293 d=lr il

secretion which stimulates the growth of | 932232183125 Soeds
. " Rod - - ‘
the endometrium. sled) ALILg (puam g plesd

o Wlkay

11 - What are the results of: 1 ole A0 yilad) FLEd La -\ )
Injecting a group of mice by virulent | (§y | e, it ye i gome i
bgcterlal typm? (S) that pre.wously. j[reated 65 il Lgialan Gt oty Hiaea
with deoxyribonuclease in addition to s (R at SR ;‘
living bacterial type (R). e STERE i e o
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12 - Choose only the right answer of the
following:

The ovule formed by ...................
division in flowering plants.

meiosis only
mitosis only

meiosis then mitosis

®OeE

mitosis then meiosis

13 - What would happen when:

The developing cell produced from
the fertilization of one single sperm is
separated into two masses of cells?

daldd Aovouall Al B yon) -\ Y
1ol Leso
SULAT 8 Slaany 11 S0
........... Al ¥ alawlgs & ya 31

s gt (D)

dazd (g gied! @

)9kl @3 (6 gad! @

sl gigatt (D)

18] Crdomy 13Le -\ Y
A9 (S 90n Olguomy il gy S
T3 o | i Lgantas £ L1y
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14 - Compare between the following:

Endospermic seeds & non-endospermic

seeds.

1o (98 -V €
Ayt g X1 gl

S L LS TR D)

Endospermic seeds
Ayt g3 ¥ gl

Non-endospermic seeds
A o gutd | AT 59!

15 - What would happen when:

(18] Crkomy t3La =V 0

The second line of defense failed in getting | 2 oLitigloatida s G a sl

rid of the foreign body?

S il st | (yo bl
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16 - Choose only one question (A) or (B) and | (<) o (1) (gt ) i 30 -1 %
then illustrate by drawing: O JolS @yl ey g @
A) Stages of pollen grain germination. A A Ol Il e
B) Asexual reproduction in bread mold. Hod 8 i ST HAISES -0
SUES (V-9
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17 - The following graph illustrates the IS 58 (7) (@) (1) Sldonialt =\
contraction of the same muscle “(A) curve a1 L LmLG.ﬂ R
represents the normal contraction”: )

(1) mimiall Jiat G Atiaall

1*) What is the name of each state that is
represents by (B) and (C). ~aall Glaalt (alai¥!
2d) Explain the curve (C) does not return Calan =
to the start state. e S S SR U O
$(g) (@) (il (o JS
pie Gy Lo 55 B pud L0l
Syt (7) iomiad!l 8392
Sl | Ala

muscle contraction strength
| jolay Y sag
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18 - Part of DNA contains the following Soimd DNA £6 5o (v Al -\A
sequence: ,gn;m &,mg ole
/ %
30..0TAC - GCC- GGG -ATToooo 5
Answer the following: 2368 & 63 15) ooy 3L
1*) What would happen if the Thymine | DNA ¢ 2 sl
base changed to Adenine? ¥ 11
2") Is the protein synthesized or not? | Geds <l le ok Ja Lol
Explain your answer. Ll | i §Y AT (g ol

19 - Choose only one question (A) or (B) | (&) oi (1) o awdt dsi im0 -1 4
and then define scientific term:

10 @
(A) Tendons. L1 (1)
(B) Sarcolemma. Lot o8 5L | (0)
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20 - Choose only the right answer of the
following sentence:

The fragments of antigen-bind inside the
macrophages to a protein called......... :

Immunoglobulin.
Major histocompatibility complex.

Interferon.

®eeE

Complements.

21 - Give reason for:
The appearance of malaria fever symptoms in human.

1 ot Loa dadd Aoviomial| Agla M1 i3l - Y+
4SSl Ol ¥ £y dad )3
B ST dcaal L SLST) (5 ls

Grled g gl @
] | 331 g1 @
Ol gy Y @

(@Eanateaas ()

r ol Lo puud =YY

OLud ¥ Gl LiyShall o sl el g6k

22 - What would happen if:
Chromosomal triploid in human was found.

z‘,tcz..a,:m@m' le =YY
2 (rall A Laclal & gus
SOLI W B Anasall das gl
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23 - Write the scientific term: JIA slal) llaaalf S -YY
Proteins which suppress (inhibit) the immune 1 AGY Bslal e
response or stop, so the B-cells will SIOP | aelialt aslovicdt daiy (g pm
producing antibodies. (B) sttt cadgnns Lelaay 4

Balaat) alus ¥ 2151 (ye Eea) S

24 - Mention one example for each of the | Leo JSt 101y ¥ =S -Y¢

following: N

358 1 (O) B gl Jgons = Wy
ol

1*") The differentiation of an egg (N) to an
individual directly.

2") The differentiation of somatic cell )

(2N) to an individual directly. (0F) Broundl Bl J5ni < L3

s 3,8 N
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25 - Choose only one question (A) or (B) and
then compare between the following

terms or definitions:
A) Neutralization & Agglutination.

B) Getting rid of toxins in plants & Getting

rid of toxins in human.

(@) 91 (1) ot 3uadt A § 2 =Y O

S
1O (8

D g Jalaid -

Olidl 2 pgewdl (o palsidl - o

Ol 2 geud! (e aldidlg
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26 - The figure below show the translation
of mRNA Answer the following:

1*) Write the bases sequence on mRNA.

2") What would happen if the arrangement
of bases on the DNA template changed?

37) What is the name of enzyme which used
to translate mRINA?

Part of DNA single strand

e (i Elalol (GO S - Y Y

.RNA

1 W e (2

e aelgatl amlis s ]
.RNA

a3 @l 3] G 3le L0
DNA & i e aelgal
seatar

Al @ 3N @l Lo G
s RNA gLy 2

| | | | |
LAl [T] [C][C] [T][C

— —
A B

H

mRNA
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27 - Illustrate the effect of LH and FSH | FSH g0 0 00 pudy-YV
hormones on human male and female.

O a0 ,S3 e LH
LH FSH
Male
S
Female
SaY

28 - Choose only one question (A) or (B) | p2 (<) of (i) ot audt asi jas - YA

and then write its scientific term: réede JIAT elal) allaall LIS

A) A type of connective tissues that shal pan JSET Al Zewil (1)
forms some body parts and does not Tges eyl e g ¥y eundl
contain blood vessels. Ao 11 (8 i |5 e JBL ()

B) Neurochemical transmitter’s presence | s,Lsf wic ddiaall dounall
in the synapse during muscle response Sy A Al
to nervous stimulation.
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29 - Choose only one question (A) or (B) and
then mention the site and the function:

A) Stigma
B) Interstitial cells in Hydra.

@3 (@) 91 (1) ottt |y - Y4
1 A2dd gl g HlSed! HS I
Jecad (1)
ygd! B A d LSS (&)

Function  aaas4n

30 - Choose only one question (A) or (B)
and then give an account on:

A) Tyloses.
B) The deposition of the gum.

(@) 9F (1) ottt 3t i i3t Y
3 3guaialt Lo ,S31 @3
obstan (1)
g oeal!t cocu y3 (o)
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31 - Choose only the right answer for the
following sentences:

During the stages of the spermatogenesis

the spermatids formed in............. phase.
@ multiplication
@ maturation
@ growth
(@ metamorphosis

32 - Give reason for:

Complements play an important role in
the destruction of microbes that found in
the blood.

dadd Asvovall Ayl W1 i3l 1)
1 ol Lea

(32955 e oy giatf iU L

............ A 0 3 & giad| O gt

[
O®OO

130 Lat Je Y'Y
H.\S‘,QL;.@G ‘33:&%—”94.\3
Spatlidaga gotl Olig pSCiad!

33 - What would happen if:
Absence of helicase enzymes from the living cells?

z..\.’m«iv..\a,g 13l =YY
S| dcind | o o US55t s
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34 - The figure below show a T. S. in the | Lot nsgs TLII JS b -¥¢
ovary of a human female, look at it then | _..a% i aie LS o

answer the following: ol Les ol @8 S (puya!

1¥) How many days last for the maturation | g lim it ab¥i sue oS : ¥
of no. (2)? S oy S (1) ey S

2") What are the names of hormones | 38 il Glige ,gl! el Lo sLaLS
secreted from no. (2) and no. (3)? §(¥) < (Y) gy e

31¢) How many chromosomal sets in the cell | &3al!Slegenallsie o8 ;LI
no. (1)? g(\)ps)w"’é

35 - Explain the effect of: el BAN i 15 g Y0

The two lobes of pituitary gland in| .. ;e aets biddee ole
suckling (breast feeding) process in man.
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36 - The following is the sequence explains | s st g g L s LTI =¥
a part of a DNA strand;

_ . :DNA ¢ g5 (o Aalad
Answer the following questions:

’3....TAC - TTA - AGC - ATT....’5

%) Write the sequence of nucleotides on P JUINWA PRRLWRA [F LA UL ¥,

mRNA transcribed from this strand. (o 5 guial RNA 565> 2alas
: . . .DNA sG> (p0 dalasli ol
2") How many amino acids in a o e ¥l | abendl s s Ll

polypeptide chain translated from this | i, e i wcud wae 2t
strand? (Mention the 1* amino acid in | y,i ,s5 .o RNA 2k p

this Chain). R TP PP { NV g B ) é"’f‘;‘ Ul

37 - What would happen when absence of | icgomo ol wie Guss s ¥V
phosphate group from skeletal muscular | s <. 2t 2ol o Glaw gat
tissues?

38 - Choose only the right answer of the following: | : L Les dadd dovoal) dyla W1 051 -¥A

From the inflammation-generating substances | --..--- Cled M 3t 9ot ! 3l gatt (e
the......o.cooeiin
@ Perforine. Y, PO @
@ Cytokines. LS g @
@ Interleukins. Ol gt oY @
@ Histamines. oo Liacg? @

YoAA/ YAV J oW1 5 9alll - Aan ! pall Adiall Adeudd 21
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39 - Choose only one question (A) or (B) and | (&) of (1) ot 5t s j2i5t -¥4
then give reason for: e @
A) Placenta may cause great harms to the BT 1))yl Rl beilind o |
embryo. $epuiml]
B) The suitable female age for pregnancy | yo.ur cootiett o ¥ ,ee o
ranges between 18 and 35 years. S ¥6 9 VA (p

40 - What are the results if leaves of calyx are | . le 4G Sett ZEI & Le -
hardly differentiated from those of the

. . 39l s pulSI1 Blygl el puie
corolla in some flowering plants?

5&B\+&J‘)L&}i@e@@3§d|
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41 - Write the scientific term of the following: | :ob e ole JIu elall pllaalt IS - )

They offer information which are collected | o5 it clogtaatt foss 31 LSS
about microbes and foreign particles to the | g s alus¥1scby Seadi e gaen
specialized immune cells found in lymph | zawmsie aetiat Lot gooz
A glasutl! suall L3

nodes?

42 - What would happen when: a disturbance | ¢ jadt G Cigis 5alimsg - £ ¥
in the neurohypophysis hormones of el Suat - 1
pituitary gland occurs? ) HE

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi 23
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43 - Choose only one question (A) or (B)

and then compare between terms or
definitions:

A) Lysis & Precipitation in immune
system. (concerning: the way of work)

B) B-cells & T-cells (concerning: the
place of production and maturation)

(&) 91 (1) o3t i st €Y
x&)ﬁpﬁ
gl (8 L il g St -
Jos Ayl o (1e) e liad!
(Legin U
Loty (B) astar wasaio
Lacatt cus o) (T) ot
(g
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44 - The following figure represents one of the | s e Ll JS Gt - ¢ ¢
important vital processes in the cell. Adnl? Al Ayt Oldaal
1% Whgt is the name of this process? and Lo $aclantloiia el Lo 351
its importance? Slgienl
2"!) What is the function of part (A)? what | §(A) c; i as by La Lol
is the results of the disturbance in | _a yis & gus s Lay

nitrogenous bases? S g yecd| aalgal!
3
///5
5
3
/,
3
—'5
(A)

45 - What is the role of head and neck of | ys 4. pga: 231 Hyutt g Lo -£0
man’s sperm? Ol gt B Giallg (yulp 1l (ps
SOLua Y1 St A giad|
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